Word Problems



The gingerbread man
had 4 buttons but he
loses 2. How many
does he have left?




There were 5 gingerbread men riding on
the back of the fox. 3 fall of f. How many
are left?
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There are 7 pigs jumping in the mud. 2 pigs
leave the mud. How many are left in the
mud?




The gingerbread man
had 5 buttons but he
loses 1. How many
does he have left?




The chicken lay 9
eggs. 3 of them
hatched into chicks.

How many eggs are
lef1?
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The old lady has made 10 gingerbread men
and she eats 4. How many does she have
lef1?
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